
  Division    

Worksheet-2  

1. Fill in the gaps given below to make the statement true. 

(i) 12 ÷ 2 = ………………. 

(ii) 16 ÷ ………………. = 4 

(iii) 35 ÷ 7 = ………………. 

(iv) 24 ÷ 3 = ………………. 

(v) 32 ÷ 4 = ………………. 

(vi) 81 ÷ ………………. = 9 

(vii) 27 ÷ ………………. = 3 

(viii) 42 ÷ ………………. = 6 

(ix) ………………. ÷ 10 = 13 

(x) 729 ÷3=………… 

 

2. Work out the division sums and verify the solutions: 

(i) 483 ÷ 7 

(ii) 485 ÷ 7 

 
(iii) 237 ÷ 8 

 

(iv) 666 ÷ 6 
 

(v) 732 ÷ 8 

 
(vi) 560 ÷ 5 
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(vii) 429 ÷ 3 

 
(viii) 942 ÷ 3 

 

(ix) 492 ÷ 3 
 

(x) 647 ÷ 6 

 

© PRAADIS

EDUCATIO
N

DO N
OT C

OPY


